Overview: Proof techniques Direct proof

You go in logical steps from the assumption to the conclusion. Counter-examples

To disprove a "for all" statement, you provide a single instance for which the property is not true. Proof by contradiction

You assume that the negation is true, and come to a contradiction. Contrapositive proof

```
Instead of p->q, you prove (not q)->(not p)
Biconditional proof
```

To prove a p<->q statement, you need to prove p->q AND q->p

TODAY: Proof by induction Book: Chapter 1, section 1.6 Q: Can you calculate the sum 1+2+3+....+(n-1)+n (with n a natural number)?

•
$$SUM = 0$$

 $for(i=1, i++, i=n)$
 $(8UM = SUM + i)$
• $\sum_{i=1}^{n} i = 1 + 2 + ... + n$
 $= \frac{n}{2}(n+1)$

Mathematical induction

• proof technique for statements of the form $(\forall n \geqslant N, n \in \mathbb{Z}) P_0$ Two steps:

1. Base case: proof of P(N)

(the statement holds for the first number, the first domino falls) 2. Induction step: proof of (for all n>N) (P(n) -> P(n+1))(If the n-th domino falls, so does the (n+1)-th)

•
$$P(N)$$
 is the : Bax case
• $p(n) \rightarrow p(n+1)$ $\forall n$ (induction step)
 $p(N), p(N) \rightarrow p(N+1) => p(N+1)$
 $p(2) \rightarrow p(3)$
 $p(3) \rightarrow p(4)$

$$(\forall n \in \mathbb{N}) \left(\sum_{k=1}^{n} k = \frac{n(n+1)}{2} \right)$$

· Bax cax . Proof of P(1) statement is for n=1

$$\sum_{k=1}^{n} k = \frac{1(1+1)}{2} = 1$$

• Induction step .
$$P(cool of Am \ge 1, P(m) - 2 P(m+1))$$

 $P(m) : \sum_{k=1}^{m} k = \frac{(m - (m+1))}{2} \quad (assumption)$
 $p(m+1) : \sum_{k=1}^{m+1} k = \frac{(m+1)(m+2)}{2} \quad (to prove)$
 $\sum_{k=1}^{m+1} k = (1+2+\dots+(m)+(m+1) = \frac{m - (m+1)}{2} + (m+1))$
 $\sum_{k=1}^{m+1} k = (m+1) (\frac{m}{2} + 1)$
 $= (m+1) (\frac{m}{2} + 1)$

$\forall n \in \mathbb{N} : 4^n - 1 \text{ is divisible by } 3$ Prod hy induction

- Bak case : P(1) is the. 4-1=3 Bis divisible by 3
- Induction step P(x) -> P(x+1) V x EN P(x): 4^x-1 is divisible by 3 (induction hypothesis)

$$4^{x+1} - 1 = 4 \cdot 4^{x} - 1 = 3 \cdot 4^{x} + 4^{x} - 1$$

= $3(4^{x} + 4) = 3 \cdot 4^{x} + 4^{x} - 1$
= $3(4^{x} + 4) = 3$ (multiple of 3 U

$$4.4^{x} = (3+i).4^{x} = 3.4^{x} + 4^{x}$$

A country has two types of coins: 3 cent and 7 cent. Prove that you can make all sums of money starting from 12 cent (up to 1 cent accuracy) from these coins.

to 12 or more

$$\forall x \in \mathbb{N}, \exists y \in \mathbb{N} : x^{y} < y^{x} \qquad \text{negation.} \\ \exists x \forall y : x^{y} ; y^{y} \\ \rightarrow \text{ this statement is falk, so we prove the } \\ \xrightarrow{negation.} \quad \text{then} \quad |_{x < 2}^{2} < y^{z} \\ \xrightarrow{dy x = 1} \quad \text{then} \quad |_{x < 2}^{2} < y^{z} \\ \xrightarrow{dx < 3^{2}} \\ \xrightarrow{dx < 3^{2}} \\ \xrightarrow{dx < 3^{4}} \\ \xrightarrow{dx < 3$$

• Base case :
$$y = 3$$
 . $3^{3} \le 3^{3}$ is the
• Unduction step : $P(y) \rightarrow P(y+1)$ $\forall y \ge 3$
 $P(y): y^{3} \le 3^{y}$ induction hypothesis
 $P(y+1): (y+1)^{3} \le 3$
 $(y+1)^{3} \le (y+1)^{3} \le 3$
 $(y+1)^{3} = y^{3} + 3y^{2} + 3y + 1$
 $\le 3^{y} + 3y^{2} + 3y + 1$ (induction hypothesis)
 $\le 3^{y} + y^{3} + 3y + 1$ (induction hypothesis)
 $\le 3^{y} + y^{3} + 3y + 1$ (induction hypothesis)
 $\le 3^{y} + 3^{y} + 3y + 1$ (induction hypothesis)
 $\le 3^{y} + 3^{y} + 3y + 1$ (induction hypothesis)
 $\le 3^{y} + 3^{y} + 3y + 1$ (induction hypothesis)
 $\le 3^{y} + 3^{y} + 3^{y} + 3$
 $\le 3^{y} + 3^{y} + 3^{y} = 3$
 $\le 3^{y} + 3^{y} + 3^{y} + 3^{y} = 3$
 $\le 3^{y} + 3^{y} + 3^{y} = 3$
 $\le 3^{y} + 3^{y} + 3^{y} + 3^{y} = 3$
 $\le 3^{y} + 3^{y} + 3^{y} = 3$
 $\le 3^{y} + 3^{y} + 3^{y} = 3$
 $\le 3^{y} + 3^{y} + 3^{y} + 3^{y} = 3$
 $\le 3^{y} + 3^{y} + 3^{y} + 3^{y} + 3^{y} = 3$
 $\le 3^{y} + 3^{y} + 3^{y} + 3^{y} = 3$
 $\le 3^{y} + 3^{y} + 3^{y} + 3^{y} = 3$
 $\le 3^{y} + 3^{y} + 3^{y} + 3^{y} = 3$
 $\le 3^{y} + 3^{y}$

End of chapter 1: Logic and proofs.

- We already completed 1/3 of the course.
 - Tomorrow: set theory